
Q.1 Which number will replace the question mark (?) in the following series?

11, 13, 16, 26, 41, 67, 102, ?
Ans 1. 251

2. 215

3. 152

4. 125

Question ID : 65497814317
Chosen Option : 3

Q.2 Six students are sitting on a bench facing the interactive board in the classroom. A is
sitting second to the right of B, while F is second to the right of E. If C is second right
of A, then what is the sitting position of D in respect of F?

Ans 1. Immediate left

2. Second right

3. Third right

4. Second left

Question ID : 65497814332
Chosen Option : 2

Q.3 Select the correct alternative to indicate the sequential order of the following terms as
they appear in a dictionary.

1. Dreamlike
2. Dreamer
3. Dreamy
4. Dreamland
5. Dreamtime

Ans 1. 4 - 1 - 2 - 3 - 5

2. 1 - 4 - 2 - 5 - 3

3. 2 - 4 -1 - 5 - 3

4. 2 - 4 - 1 - 3 - 5

Question ID : 65497814333
Chosen Option : 3
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Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 65497814338
Chosen Option : 3

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497814337
Chosen Option : 2

Q.6 Select the correct sequence of mathematical signs to replace the * signs so as to
balance the given equation.

92*4*36*13*9=104
Ans 1. ÷ - + ×

2. + - ÷ ×

3. - ÷ × +

4. × + ÷ -

Question ID : 65497814316
Chosen Option : 1
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Q.7 Select the option word that is related to the third word in the same way as the second
word is related to the first word.

Tuesday : Saturday : : May : ______.
Ans 1. September

2. April

3. October

4. August

Question ID : 65497814327
Chosen Option : 1

Q.8 If in a coding system STAMINA is coded as 74 and OCTOBER is coded as 75, then how
will IMPOSING be coded in the same coding system?

Ans 1. 117

2. 99

3. 114

4. 102

Question ID : 65497814323
Chosen Option : 2

Q.9 Which number will replace the question mark (?) in the following number series?

4, 6, 9, 14, 23, 40, ?
Ans 1. 72

2. 73

3. 71

4. 74

Question ID : 65497814320
Chosen Option : 2

Q.10 If - is interchanged with ÷ and + is interchanged with ×, then which of the following
equations is correct?

Ans 1. 32 × 21 + 9 ÷ 184 - 8 = 198

2. 32 + 21 - 9 × 184 ÷ 8 = 198

3. 32 ÷ 21 + 9 - 184 × 8 = 198

4. 32 + 21 × 9 - 184 ÷ 8 = 198

Question ID : 65497814315
Chosen Option : 1
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Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 65497814335
Chosen Option : 3

Q.12

Ans

1. 

2. 

3. 

4. 

Question ID : 65497814339
Chosen Option : 2

Get SSC MTS Study Notes at :  https://sscportal.in/notes

https://sscportal.in/study-kit/mts
https://sscportal.in/ebook


Q.13 In a row of 47 persons, X is 14th from the front while Y is 17th from the back. If they
exchange their location, Y becomes 34th from the back, then what will be the position
of X from the front?

Ans 1. 31

2. 32

3. 30

4. 29

Question ID : 65497814331
Chosen Option : 1

Q.14 Three statements are given, followed by four conclusions numbered I, II, III and IV.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:
Some advocates are doctors. 
Some doctors are players. 
All players are engineers.

Conclusions:
I. Some players are doctors.
II. Some engineers are advocates.
III. All advocates are engineers.
IV. Some engineers are doctors.

Ans 1. Both conclusions I and II follow

2. Both conclusions I and IV follow

3. Both conclusions I and III follow

4. Both conclusions II and IV follow

Question ID : 65497814330
Chosen Option : 2
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Q.15

Ans

1. 

2. 

3. 

4. 

Question ID : 65497814336
Chosen Option : 2

Q.16 Which number will replace the question mark (?) in the following number series?

168, 168, 84, 28, ?
Ans 1. 4

2. 7

3. 12

4. 14

Question ID : 65497814319
Chosen Option : 2
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Q.17 Select the option that is related to the third letter cluster in the same way as the
second letter cluster is related to the first letter cluster.

CONCEPT : DDFOPQU : : NARROWS : ______.
Ans 1. OBSSPXT

2. BOPSSTX

3. WSRRONA

4. XTSPOBS

Question ID : 65497814325
Chosen Option : 2

Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 65497814334
Chosen Option : 1

Q.19 If in a coding system LEARNING is coded as 82463739 and MOBILE is coded as
510782, then how will IMAGINE be coded in the same coding system?

Ans 1. 7549732

2. 6548732

3. 8317945

4. 7206834

Question ID : 65497814324
Chosen Option : 1
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Q.20 In a certain code language, if GLAMOUR is written as AGLMORU, then how will
RUTTING be written in the same code language?

Ans 1. GNURITT

2. GINRTTU

3. INGTTRU

4. GNITTUR

Question ID : 65497814321
Chosen Option : 2

Q.21 Two statements are given, followed by two conclusions numbered I and II. Assuming
the statements to be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the statements.

Statements: 
All trees are plants.
Some plants are climbers.

Conclusions: 
I. Some plants are trees.
II. Some trees are climbers.

Ans 1. Neither conclusion I nor II follows.

2. Only conclusion II follows.

3. Both conclusions I and II follow.

4. Only conclusion I follows.

Question ID : 65497814329
Chosen Option : 4

Q.22 Select the option in which the numbers are related in the same way as the numbers of
the following set.

46 : 82 : 154
Ans 1. 70 : 133 : 258

2. 62 : 116 : 224

3. 86 : 159 : 303

4. 78 : 141 : 276

Question ID : 65497814318
Chosen Option : 2

Q.23 Which letter cluster will replace the question mark (?) in the following letter series?

TPM, IEB, XTQ, ?
Ans 1. MIF

2. MIE

3. NJF

4. NJG

Question ID : 65497814328
Chosen Option : 1
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Q.24 In a certain code language, if IRONING is written as OWSQKOG, then how will
SHERIFF be written in the same code language?

Ans 1. HSREFIF

2. YMKWLK

3. YMIUKGF

4. YNKXOLL

Question ID : 65497814322
Chosen Option : 3

Q.25 ‘Truck’ is related to ‘Road’ in the same way as ‘Tram’ is related to ‘_________’.
Ans 1. Rail

2. Wheels

3. Rope

4. Air

Question ID : 65497814326
Chosen Option : 3
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